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FA AR LLIAT 711 786 889| 1675
AL BB LLIET 1,050] 1,233 1,319] 2,552
JLEEHT 2,323| 2,777| 3,044 5821
HEBCHT 39 39 54 93
A& B O HT 20 28 38 66
& <FHT 24 36 37 73
PE &0 5 <F T 36 45 43 88
FriE A ET 561 632 688| 1,320
75 £718 N ET 118 107 112 219
b8 A BT 21 28 38 66
ako0=1: 28 34 39 73
B aET 31 44 34 78
1 HT 49 61 77 138
A HT 65 79 79 158
ZEHT 56 54 64 118
HMEFRET 42 46 43 89
F T 47 73 77 150
= RHT 44 43 51 94
R ET 32 41 46 87
Eoikanlidl 34 32 44 76
SR T 69 72 95 167
HaET 41 53 59 112
S FHHET 47 44 58 102
N 187 229 253 482
= A BT 1,077] 1,220 1,372 2592
= H O 81 84 103 187
Fift = HT 13 11 12 23
it EHT 91 95 112 207
EHT 18 19 22 41
= EHT 44 53 56 109
H—TH 26 19 20 39
HWM=TH 28 37 36 73
HM=TH 88 98 113 211
HMmTH 33 38 41 79
HMATH 68 71 79 150
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HI<TH 73 71 82 153
A= HT 33 30 33 63
iF SR = BT 51 65 68 133
L XITHT 47 49 46 95
BRI HT 121 87 109 196
HNET 829| 1,087 1,177| 2264
B [E T 100 110 107 217
75 it BT 224 255 270 525
FAHT 231 327 352 679
K HETE 40 49 60 109
W & BT 119 151 162 313
NEFErHT 229 219 249 468
KEHET 114 117 145 262
39 AL BT 222 262 294 556
HiE H5 T 67 74 101 175
KIEET 20 23 25 48
% R T 9 11 13 24
e LLI BT 269 303 291 594
b, B T 58 59 66 125
7k B2 SFHT 153 182 204 386
i [ T 95 113 130 243
& H By 468 465 543| 1,008
Y, e T 224 218 254 472
LT 432 496 531] 1,027
[/ Et) 11,470 13,184 14,559| 27,743
21 - ET 1,916 2,298 2492| 4,790
7% T 83 108 109 217
FZHT 136 184 176 360
AR EHT 192 216 238 454
X 3BT 153 170 210 380
[/ Et) 2,480 2976] 3225 6,201
% HHET 1,032| 1,267| 1,266] 2533
Yk T 780| 1,001| 1,079] 2080
541 BT 99 139 158 297
FHT 1,215 1,564 1,668] 3,232
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LI FH BT 223 280 282 562
% H 1L BT 1,205| 1.446| 1577| 3,023
FHHET 616 723 767 1,490
SR Ji7 ET 861] 1,118] 1,157 2275
[/ &) 6,031| 7,538] 7954 15492
=80T 61 97 101 198
T =488 967| 1,117 1,287 2,404
gl 1,041| 1,236 1422| 2,658
= HRET 266 373 396 769
KiTHET 34 58 63 121
= B Ey 21 25 22 47
F F EPHT 116 177 208 385
3% iR [E BT 432 473 422 895
[/ &) 2,938| 3556] 3921] 7477
12 H BT 197 274 279 553
A BT 47 70 83 153
=] 360 381 463 844
F ST 68 104 119 223
A 3k T 39 65 64 129
5L HT 218 315 324 639
L1 BT 34 56 68 124
FE L KHT 59 94 88 182
# AT 66 104 112 216
[/ Et) 1,088| 1,463 1600] 3,063
K& <FHT 103 120 145 265
J\SEHT 139 214 239 453
Gi: 2N 122 153 169 322
5 ElFFET 745 868 836| 1,704
=T 189 217 275 492
iz 52 73 73 146
75 BT 110 153 152 305
R BT 363 452 435 887
55 F] T 411 495 491 986
X8 FH &R <F AT 23 29 40 69
8 H &R F AT 44 49 71 120




HT & HEY (B z

6 FH &R AL BT 1,048 1,332 1425 2757
BR F0HT 69 80 92 172
[/ Et) 3,418| 4235 4443| 8678
/N SRHET 4553 5341| 5822| 11,163
/NFRET 1,026] 1,274 1,317| 2591
B i 559 704 739 1,443
AT 323 374 393 767
=2 T 52 79 76 155
/NEHT 351 484 487 971
ith 2z PN ET 149 191 180 371
A Fh T 209 313 314 627
Jiti [58 =F HT 315 412 428 840
78 FH P ET 452 505 523 1,028
INRETER—TH 129 131 158 289
INRETER_TH 109 101 104 205
INRETER=TH 212 288 311 599
INKETEE—T B 26 27 27 54
INKBTFEZT B 50 59 62 121
INKBTEE=T B 70 86 81 167
[/ Et) 8,585 10,369 11,022 21,391
[ & ) 36,010 43,321| 46,724 90,045
AN P 3 477 433 453 886
(& Ef) 36,487| 43,754| 47,177| 90,931




